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Exercisel: choose the present simple or present continuous.
1-She (have) a bath every evening. == GV‘-’\A

2-Luke (see) the doctor now. —> (\U‘ B J"“&\\_\)\

3-He (have) a party next weekend. ,.9( o> (‘Q(”*’"‘""{i\\ﬁ
4-She (have) a headache . —> (\g/\i’\b\
5-it (be) cold today . —> (\w\ ) \
6-1 {not /see} anything .i can’t work. ~>Q& ‘\LM‘ !}u—\

7-She (not /be} a doctor. ;_;J&;Q:;f\\\ ¥ \

Exercise2: use can or must in the following sentences.

1-That's ridiculous, you 43\\uéibe joking.

2-They haven’t eaten for hours. Theyiimbtbe starving.

3-I'm busy this morning but | Cuaen see you this afternoon if you like.

4-She left two hours ago so she M\m\bt' Have arrived by now.

Exercise3: choose between have to and must.

1-Mrs parks can’t see very well, she ﬁ\mﬁx Wear glasses.

71ty borrow some money to buy a car.

4-Mr Dickson is going to travel abroad, so he K&‘;lﬁieam English in 4 months.

5-The weather is very cold, so WEM take a taxi.
6-1 have a terrible headache, so iym\:végleave early.

7-snow covers the road; we..Kﬂ.M.Etay here.

Exercised: say which verbs express states and which verbs express actions.

i-l own two cars. —%& %T CLE;\'.‘r( \j'g\'@-\ = 4
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2-1 go to lets of parties.

. AN N B
-)>((\.»C J«»C’S“ e LQ*"\ -~

3-i love foothall. — \.C)\ culm"( f&'\,\l)) A
LA}J‘;” YD \)

4-1 surf the net most evenings. ==\
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